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1. STIRTRIReT 7 fhal 98 =T & aF S0 Jaao?

(1) UT. Y. HEreET (2) wH. o=

(3) HETAT T (4) TF. IR, TF

Who proposed the principle 'Industrialize or perish'?

(1) P. C. Mahalanobis (2) M. Vishweshwaraiyya
(3) Mahatma Gandhi (4) N. R. Dutta

N\

2. 1950 & TaT IS ST, AR Ireiarer Fieer snfor fo=iear v arer e uve
2T, T URSEN AR Jehdl Jodo ol 30T fehiad JgHrl MaeHTaR R ol
AT, WISTHUDRT HITTAT FA ST dIR heil gral?
(1) STATESIS A8 (2) STAWRIET ATRTIOT
(3) TH T g (4) ISR TAD

In 1950 Sarvodaya Plan came out. It was influenced by Gandhian plan and ideas of Vinoba

Bhave. It suggested freedom from foreign technology and stressed upon decentralised
participatory planning. The plan was drafted by which of the following leaders?

(1) Jawaharlal Lal Nehru (2) Jaiprakash Narayan

(3) M N Roy (4) Ardeshir Dalal

3. WoIGUhl HIoTd [/~ I°T 3Te/a?
(37) S P AT AfAANET (National Planning Committee) T 1938 4T BYRT
ATAISHTT ST gral.

@) 7 A 37re] Uled SO Jew aid.

T 39
(1) Tk 37 (2) Fh &
(3) 37 3MOr § (4) TRET ATEr

Which of the following statement/s is/are correct?

(A) The National Planning Committee was formed by the Congress in the Haripura session
of 1938.

(B) This committee was chaired by Pandit Jawaharlal Nehru.

Answer Options:

(1) Only a (2) Only b

(3)aand b (4) None of the above
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4. ST SERTEE WToiGUh! HivTd YT STERT IR,
(1) IfeeT =S SERT 15 /19 1950 HTST RUTIT S,
(2) IR RIS SR 3Terey [SERIGIS Hal 2.
(3) S STTT=AT AT 9fRet ASHT 1 Uiies 1951 S & STo.
(4) IS MR &M <3Mdie AT, digds F Hifdes A9 [AeRgds 99T
FAT IS 3T AT T 7 B

Which of the following statements about Planning Commission is incorrect?

(1) The first Planning Commission was constituted on March 15, 1950.

(2) The first Planning Commission was chaired by Gulzarilal Nanda.

(3) The First Plan was launched on 1 April 1951 under the guidance of the Planning
Commission.

(4) The job of the Planning Commission was to 'make a plan for judicious utilisation of the

country's resources, capital and material resources'.

5. NITI EPTET WSTHUHRT T HRT ATed?
(37) FEhRI FaRTsgdTe JIedot.
@) ATAR-AT TOT AR [P T i FRTRRoT FRuamare! Ardle.
(@) FERISH HedT TROT AT SATOTTS Ueh ATAH UL 6 ol
ERIDTICEER
1) & 2) & &
(3) 37 3nfor & (4) 37, F IMOT &
Which of the following are functions of NITI Aayog?

(A) Fostering cooperative federalism

(B) Platform for resolution of inter-sectoral and interdepartmental issues
(C) Instrument to bring outside ideas into policy-making

Answer Options:

(1) Only A (2) Only B

(3) A and B (4) A, Band C

6.  TEAT (Dec. 2023) ST TP T HREIBRT ATIRRT FHI0T TRd?

(1) AT Hie (2) SR GTRroaH
(3) AT I (4) T HAR
Currently (Dec.2023) Who is the Chief Executive Officer of Niti Aayog?
(1) Abhithab Kant (2) BVR Subrahmanyam
(3) Suman Berry (4) Rajeev Kumar
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7. AT MR OIS TEhRT TORTIRT Sbehel udTd WISie awaidr fqvia grdr
37 ST faehareh=oTRT 3Tt 2T,
(@) T2TH MY FHOT HeT FTRH ASHFAT BT,
(@) ISIHT ST FRIUATATST AR 6ol

PR IPIIREES
(1) <k 3T (2) Bh &
(3) 3T ATMOT & (4) 3, § 3OT &

The strengthening of cooperative federalism suggested by NITI Aayog involves the following
principles?

(A) Accelerating decentralisation in planning.

(B) Building strong nation by creating strong states

(C) To guide the states in planning

Answer Options:

(1) Only A (2) Only B

(3) A and B (4) A, Band C

8. ufgcdr duaii¥e TiSHd TTolGUhl Sl IWRON SATor?

@31 RIS @d wREET (@) MThT- T TR
@) TR Afcamaiiead OEEIREICERIN
T 3T

DA, g9 2T, hdS

G) A, FTS (4) TS I9

Which of the following was established in the First Five Year Plan?

(A) Sindri Fertilizer Factory (B) Bhakra- Nangal Dam
(C) Hindustan Antibiotics (D) Bokaro Steel
Answer Options:

(1) A, B and C (2) B, C and D

(3) A, Cand D (4) All of the above

o o o o [N
9. iUl nlPidl disiHl HaloAlldd disil &Y Ak 3T|%?

(1) dfeest TSt (2) G ASHT
ORACRERISEI (4) TS FHAT It
Which of the following is popularly known as Mahalanobis Plan?

(1) First Five Year Plan (2) Second Five Year Plan
(3) Third Five Year Plan (4) Annual Rolling Plan
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10.  SRIVTAT YN Frd YRATAT Wraeer T wafAfia srisgaeer =u wnfud woarr
TS 3R grd?
(1) ufesT derar™w s (2) AT GFATE ISt
ORACREIREEEIRERIEE] O EIRIREEIRERISE]
Which Five Year Plan had the primary goal to establish India as a self-reliant and self

generating economy?
(1) First five year plan (2) Second five year plan
(3) Third five year plan (4) Fourth five year plan

11, FRATd HIOTAT ToaIE AeTdiaid =g Recdz " & Hoard eol?

(1) FeET goaiye ST ORIGEIREEIS EARISEI
OEICEIREEIREARIEE R IEEIREEI R ISR
Under which five year plan "Blue Revolution" was started in India?

(1) Sixth Five Year Plan (2) Seventh Five Year Plan
(3) Eighth Five Year Plan (4) Fifth Five Year Plan

12.  ShHITAT YA ST ST 98T JBIIShTAT U 9Y 3T WhIT hol?

(1) dfger (2) =l

(3) dT=ET (4) Fraar

Which Five-year Plan was suspended one year before the time schedule by the Janata Party?
(1) First (2) Fourth

(3) Fifth (4) Seventh

13.  WIHIAUD H2ATIT JHATd YTEAT ASTATHRISTT TeI?
(37) THITAE T [ThT FIHT

@) THITHS ATHIOT IR HahT

CORIEREPIGINAEEIREEED

TG IR

(1) ®h 37 (2) Bh &
(3) TIHTH T (4) 3T 7O %

Which of the following started during the fifth plan period?

(A) Integrated Child Development Programme

(B) Integrated Rural Development Programme

(C) Regional Rural Development Bank

Answer Options:

(1) Only A (2) Only B

(3) All of the above (4) A and C
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14. WISIGIHRN HIVTAT BIE SIS Thed AT TSR ASHT HIATd = ATHT?

(1) Frerg (2) TR

(3) THRT (4) TIhAT

Which of the following iron and steel projects was started during the 4th Five Year Plan
period?

(1) Bhilai (2) Durgapur

(3) Bokaro (4) Roorkee

15. TSIegT JENT shg IV U=aE TISTATRIGIT RTIT STol?

O EHEIRIEE (2) FTIET FiSTT

(3) FLHAT FISTT (4) qTEIET ISl

District Industry Center was established during which Five Year Plan period?
(1) Sixth Plan (2) Seventh Plan

(3) Rolling Plan (4) Fifth Plan

16. WSGUHT g a4 .
(37) AT GETNS JoHd Goh ATad UTaH JTaRvard 3TTe.

@) AT U= Aret-d ARl a¥< TaHI aroRoaTd 3T

I 3R
(1) b 37 (2) Bh &
(3) 3T anfor ¥ (4) TASIHT HOTAET el

Identify the correct statement/s from the following.

(a) An Open Consistency Model was used in the Fourth Five Year Plan.
(b) Wage Good Model was used in the Seventh Five Year Plan.

Answer Options:

(1) Only a (2) Only b

(3) aand b (4) None of the above

17. 92T U=aiNe Ie< F8 ST ard?

O EIK:EIEIREEIR] AREIRIEE R EICIREEIR]
OEIEIECREICIRCEIR (4) TISTRT FHIEE e

What was the focus of the first five year plan?

(1) Development of the service sector (2) Development of the primary sector
(3) Development of the industrial sector (4) None of the above
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18. UfecdT U=aIN® TIST—d HivTAT e WiaH=ET STaod Hivard ST

(1) THOT IS Hd (2) T TS AT

(3) BS-SER UTEM 4) Fe-gRee Aty q1ea

Which economic model was followed in the first five year plan?

(1) The Aggregate Production Function (2) The Basic Growth Model

(3) The Harrod-Domar Model (4) The Neo-classical Growth Model

19. HRAT FIFTRIAST RV IY AT ! B ABEo! STara?

(1) 1966-1969 (2) 1965-1968
(3) 1967-1970 (4) 1964-1967
Which years were plan holidays for the Indian economy?

(1) 1966-1969 (2) 1965-1968
(3) 1967-1970 (4) 1964-1967

20. THTAT TS TEHUTAT T TRRAAS HIOTAT I T TS AT AqTeT?
(1) 1990-1992 (2) 1991-1993
(3) 1992-1994 (4) 1989-1991
Which two years carried out annual plans due to the fast changing economic situation of
the country?
(1) 1990-1992 (2) 1991-1993
(3) 1992-1994 (4) 1989-1991

21. 12 ST YEINS FeHET 3RS S gar
(1) IR PN AT 50 THET HEATAT AT IUST HeT 30,
(2) To5r anfor TSI $faR R o,
(3) 39 &0 wdr areavr.
(4) TS TT
What were the objectives of the 12th five year plan?
(1) Introduce 50 million work opportunities in the no-farm sector
(2) Remove gender and social gap
(3) Increase access to higher education
(4) All of the above

22, STHITSAT YOS Ao §=7 IRE B

(1) W= Tvdis e (2) 3T, T AMOT IATSHAT

(3) I9 I FaAHEIE I3 (4) TIRE= e

The main aim of the Eleventh Five Year Plan was

(1) Eradication of regional imbalances (2) Food, Work and Productivity
(3) Inclusive Growth in all sectors (4) Eradication of Poverty
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23.  3THIIAT UTANSS Fiod GG HIVTAT AT I STT?
(37) TS ATATE FRreT ST
@) BT ITAR RrET AT
@) TR TR AT
T 3T
(1) 37 3707 § (2) ¥ 3nfoT &
(3) 3T 3T & (4) 3T, F MOT &
Which of the following schemes were launched in the Eleventh Five Year Plan?
(A) Rashtriya Madhyamik Shiksha Abhiyan
(B) Rashtriya Uchchatar Shiksha Abhiyan
(C) Saakshar Bharat Abhiyan
Answer Options:
(1) A and B (2) B and C
(3) A and C (4) A, B and C

24. WIHTGUD! BV JTHATIZS TR AREHRY KT 0T HX0ATd AGd e 3hd?
(37) TH- FErACT ST WIcdTeT 2ot
@) I&T HY STOT AT JAITT TATET 208
(@) 27797 B hIATET FHSISITIO,
QSIS g dTIa Iy 3% Fder:
(1) &t 3T 2) & nfoT &
(3) 3, & AT &% (4) Th &
Which of the following can aid in furthering the Government’s objective of inclusive growth?

(A) Promoting Self-Help Groups.

(B) Promoting Micro Small and Medium Enterprises.

(C) Implementing the Right to Education Act.

Select the correct answer using the codes given below:

(1) Only A (2) B and C
(3) A, Band C (4) Only C

25. 3ISTr TP RRT IR JUTIAT HROATd T,

(1) 6 ATRE 1950 (2) 6 ATRE 1952

(3) 16 AP 1952 (4) 10 AP 1952
National Development Council was constituted on .

(1) 6 August 1950 (2) 6 August 1952

(3) 16 August 1952 (4) 10 August 1952
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26. 3T ST 3BT,

PIEE EECIRERIEEI)
(1) = fRrem s 9 dr
(2) RT FEToT FrsT 10 9t
(3) T ST 8 ar
(4) THTE 3MER TS - 9 4t
Identify the incorrect pair.
Scheme Five Year Plan
(1) Sarva Shiksha Abhiyan 9th
(2) Bharat Nirman Yojana 10th
(3) Sangam Scheme 8th
(4) Mid-Day Meal Plan 9th
27. AT qATF ST

(31) 12 ST GITNS AlSTd SRFHT AT 50.3 TS AP MHAT S8 3Toard 3775 2.
@) 12 T THaSS FoerER SRS WHIOT 10% 3 hUT Rvare &89 3999Td 31 8hd.
AT 3TN

(1) ®eh 3 (2) Bh &

(3) 3T anfor ¥ (4) TASIHT HIOTAET el

Choose the correct option.

(A) The 12th Five Year Plan aimed to create 50.3 million jobs in the non-agricultural sector.
(B) It was targeted to reduce the poverty rate by 10% by the end of 12th Five Year Plan.
Answer Options:

(1) Only A (2) Only B

(3) A and B (4) None of the above

28. 12 ST YOEIYe st ST HioTd ard?
(1) Tt ST ITAToT fohrT
A RIGEREEIE]
(3) ARG T THIES (SR
@) Tz, AT FHEES T 2M9d SAhT
What was the goal of the 12th Five Year Plan?
(1) Agriculture and Rural Development

(2) Human development
(3) Faster and inclusive development

(4) Faster, more inclusive and sustainable development
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29. 10 =T YIS JroHaTed QTS [aum arer.
(37) 10 &7 TISHT 1 TYe 2002 o 31 | 2007 IT HIBIT ST Tl
@) IS G AHEISTh TR hRogrd T,
TISUDT T I 3Te?
(1) 37 3707 § (2) Th 3T
(3) &7 & (4) =T AT
Read the following statements regarding the 10th Five Year Plan.
(A) The 10th Plan was implemented from 1 April 2002 to 31 March 2007.
(B) Most of the expenditure was on social services.
Which of the above is correct?

(1) A and B (2) Only A

(3) Only B (4) Not both
30. ATSAT YIS qrsTaTad WISIHUh! ShivTd [ /g 31e?

(1) Flaaore ST v

(2) HT T

(3) 73 ATOT 74 dF

(4) TS FHITSTS HaT ATl JHaTd

Which of the following statements is incorrect regarding the eighth Five Year Plan?
(1) Establishment of the disinvestment commission

(2) FEMA Act

(3) 73rd and 74th constitutional amendment

(4) The beginning of the National Social Service Scheme

31, WTSIGUDT HIOTAT ST IRIER S[bedT IMd?
(3T) TETHT AT AT - 2000-2001
@) UEST 9T HSHT HIAHH - 1975
(@) HS ST AT st - 02 3ifdeiaR 2014

() I=T - 2005

g 3N

1) % VERED
(3) A, 7, S (4) 3, &

Which of the following pairs are correctly matched?

(A) Pradhan Mantri Gramodaya Yojana - 2000-2001

(B) First Twenty-Point Program - 1975

(C) Sansad Adarsh Gram Yojana - 02 October 2014

(D) PURA (Provision of Urban Amenities in Rural Areas) - 2005
Answer Options:

(1) C (2) B, C

(3) A, B, D 4) A, C
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32. 12 AT QNN STl ShivTdl T S6 Ted?

(37) UMM $ATT GDP AT 9% J[dAdveh 2ol

(@) ST OTER 950 T T,

@) 90 TH TRAT FeaT STohT JaT IUST THee oI

T 3T

) A, 2) A, &
(3) T, & 4) T, 9, &

Which objectives of 12th Five Year Plan are correct?

(A) To invest 9% of GDP in infrastructure sector.

(B) Increasing the child sex ratio to 950.

(C) 90 percent of Indian households have access to banking services.
Answer Options:

(1) A, B (2) A, C

(3) B, C 4 A, B, C

33. SETAT GodiNG JSTHd hIvTAT &=TST T 8157 AT 31T?

OEICIRERE ) FE &

(3) T2reTor g1 (4) HEHR &1

Which sector was considered as core sector in 10th five year plan?

(1) Industrial sector (2) Agricultural sector
(3) Education sector (4) Co-operative sector

34, WOlS [TUMaST YadTye JsiT 3T,
(31 FT-IHIfSTh =T T FHEdag T 91e.
@) TSI THATHIIT F FAHIHIIT S, 3aT. SJGSY
(@) TS R0 UTaT. 3aT. SSA
(8) SEZ =T X9

W’Tﬁfﬁi‘:
(1) 10 & AT @) 11 3 =TT
(3) 9 | AT 4) 7 I =T

Identify the Five Year Plan from the following statements.

(A) Target- Economic growth with social justice and equity.
(B) Consolidation and simplification of schemes. E.g. SJGSY
(C) Preference for primary education. E.g. SSA

(D) Establishment of SEZ

Answer Options:

(1) 10th Plan (2) 11th Plan
(3) 9th Plan (4) 7th Plan
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35. WG UIHMTGT Higde! a¥ UaH 3T &l FOTdTd?
(1) IRBRA Aigdosl T HHATT 0T 3T4ferd 3Te.
(2) TRERA iggor! T FHOT FHOMAT IS AU HR0T Taferd 3Te.
(3) IRHRA 3NN TR Higaes Jaaur TUferd 31e.
4) T 99 Ig
Why Mahalanobis Model is called Capital Goods Model?

(1) Government is expected to produce capital goods.

(2) The government is expected to invest in industries that produce capital goods.
(3) Government is expected to invest capital in industrial goods.

(4) All of the above are correct

o 2 hd

36. ATHITSI, TMTY® T [T ATHIR0T & AT AT IanoaT BREAT ATSTHT hioTT G=amyeh
AT IhIRUAT 3THI?
(1) 3TTaar (2) Faar
(3) Z@rer (4) STHRTET

A three-pronged plan for women's empowerment namely social, economic and gender

empowerment was adopted in which Five Year Plan?
(1) Eighth (2) Ninth
(3) Tenth (4) Eleventh

37. AT YA AT Yelaueh! HivTd S g HRoard 3TTc?
(37) STIYUTHIUT ¢ [IHRT HrEIHT

@) AU TS

(@) B D (IR HIIHA

ERIRIS R

(1) A, & 2) A, b
3) T, & 4) 3T, 9, &

Which of the following programs were launched in the Fourth Five Year Plan?
(A) Draught Prone Area Development Program

(B) Operation Flood

(C) Small Farmers Development Programme

Answer Options:

(1) A, B (2) A, C

(3) B, C 4) A, B, C
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38. ATHITSI <O & AHAUE Joal TR HI0TAT Taaii¥e Fred X I0Td STAT?

(1) et OEEL

(3) <@rar (4) STRRTAT

Which Five Year Plan laid emphasis on 'Growth with Social Justice and Equity'?
(1) Eighth (2) Ninth

(3) Tenth (4) Eleventh

39. SISl gaTd ©T OISO TSRS S0aTd 3Tl

(1) =T FisET (2) TEIET ST
(3) FEET ST (4) JFTaT FiSTT
The slogan 'Garibi Hatao' was introduced in_ .

(1) Fourth plan (2) Fifth plan
(3) Sixth plan (4) Seventh plan

40. HIOTAT UHETNh Are-d IAFTAT IFTYFRIFEIVNER I 0GTd AT BiaT?

(1) g FistT (2) UTIET ST
(3) ATSAT FiSTT (4) JTaT FiSTT
Which five year plan laid emphasis on modernization of industry?
(1) First plan (2) Fifth plan
(3) Eighth plan (4) Seventh plan
41, STATEX ASPIR T AREAT ASHIR HHdAr SRHATET Joard _ AreHIRE SToT.
(1) foa=ar Jaays EEIZIREEEINED
(3) ITTAT Y (4) TTYRT TR
The employment generating programmes like Jawahar Rozgar Yojana was started in __ .
(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Seventh Five Year Plan (4) None of these
42. YRT PR IR GOGNS qHd [T % TS0 gl
(1) 9.20% (2) 7.90%
(3) 8.20% (4) 8.50%

The Twelfth Five-Year Plan of the Government of India has decided for the growth rate at
(1) 9.20% (2) 7.90%
(3) 8.20% (4) 8.50%
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43, YRATAIS T FISTHIATS! el AT areq Ridd HRoarandl Meie HiRer  IeR

FIOGTT ST,
ORCREREEISERISE MERIREEISERIEE
(3) TS GEaTNS AT ORICEIRCEIR ERIE R

The Gadgil Formula for determining the allocation of central assistance for state plans in
India was introduced in

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Seventh Five Year Plan (4) Fifth Five Year Plan
44. T MCH SAIRIA HEEET RATIAT HROATT AT 3Te.
GG IEIGERIERCEIRS (2) IR MO ASHIR HATST
(3) AT 3TAT (4) HI3TeT SR AT IJATSThdT HATHY

Atal Innovation Mission is set up under the
(1) Department of Science and Technology (2) Ministry of Labour and Employment
(3) NITI Aayog (4) Ministry of Skill Development and Entrepreneurship

45. "dRT HAHT HIAHA" HIOTAT TH & HI0ITT ATH?

(1) 1969 (2) 1975
(3) 1977 (4) 1980
"Twenty Point Programme" was launched in the year?

(1) 1969 (2) 1975
(3) 1977 (4) 1980

46. <ITT U=EISS Tod WISISURT HIOTd TTdATT WIRRIITT 3TS?

(1) B - SR ufaHdrT 2) e ufaam

(3) A - &g AlaH= (4) SRS - Thias ATdHT
Which of the following Models was adopted in the Fourth Five Year Plan?

(1) Harrod-Domar Model (2) Miller Model

(3) Manne - Rudra Model (4) Brahmanand- Vakil Model

47, RT (ITHIOT AT 3TE<T AT 9Rao) Aiead THET _ FiHT o aid.

(1) TUT ST TFS AW (2) T R

(3) BIHHT ST (4) ST Iy

PURA (Providing Urban Amenities to Rural Areas) model was advocated by
(1) A P J Abdul Kalam (2) Manmohan Singh

(3) Lal Krishna Advani (4) Rajiv Gandhi
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48. STHRTAT YA Al SRS M7 SRISPIRT AT WIAGUhT HIOTd HeT I TTE?
(1) SRS YHT9T 10% =T AT 7.
(2) IR SRISHIRT 5% =T Wil ST,
(3) P3G HIFTRISAT AR 20% T qTE HT,
(4) 50 SIHET ASHIRTAT T 4707 0T,

Which of the following targets of the Eleventh Five Year Plan regarding poverty and

unemployment is incorrect?

(1) Reducing the poverty rate by 10%.

(2) Bringing educated unemployment below 5%.

(3) To increase the wages of unskilled workers by 20%.
(4) Creating 50 million employment opportunities.

49. 12 T YTEIY® AT RIToTHEHd Wecae! HhivTd Bed I& 3Te?
(1) 2T FBrefomsar 9uid 7 Il 912 ST,
(2) RIS SR F AMTSTS SRIEEAT 3 90T
(3) ATAHE RTETOMAIS b=t WHTOT 10% YT WIS 37ToTOT.
(4) TBY 0T H ATARAATS dhIad 7% AT @Il ST,

Which of the following targets of the 12th Five Year Plan regarding education is incorrect?

(1) Increasing the schooling year by 7 years.

(2) Addressing gender and social disparities in education.

(3) To bring down the dropout rate in secondary education below 10%.
(4) Bringing down the male-female literacy gap below 7%.
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(1) 50%, 40 (2) 60%, 55
(3) 75% 55 (4) 50%, 55
By the end of the 12th Five Year Plan, a target of _ liters per day per capita clean
drinking water was set to reach at least __ rural population.
(1) 50%, 40 (2) 60%, 55
(3) 75% 55 (4) 50%, 55
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